Form No. 3455-947 Rev A

Center Bed Racking Kit

JL0) H{OX Workman® GTX Utility Vehicle
Model No. 08147

Installation Instructions

Installation

Loose Parts

Use the chart below to verify that all parts have been shipped.

Description Qty. Use
No parts required - Prepare the machine.
Left side rack 1
Right side rack 1
Center bar 1 . .
Front bar 2 Install the center bed racking kit.
Carriage bolt (5/16 x 3/4 inch) 20
Flange nut (5/16 inch) 20

Preparing the Machine

1. Park the machine on a level surface.

2. Engage the parking brake.

3. Shut off the machine and remove the key.
4. Wait for all movement to stop.

© 2023—The Toro® Company Original Instructions (EN)
8111 Lyndale Avenue South Printed in the USA
Bloomington, MN 55420 (€ 3=3 All Rights Reserved

Register at www.Toro.com.

*

34 5 5 -9 4 7 %



Installing the Center Bed Racking Kit

1. Loosely secure the left side rack and right side rack to the center bar using 8 carriage bolts (5/16 x 3/4
inch) and 8 flange nuts (5/16 inch) as shown in Figure 1.

9445652

Figure 1




2. Loosely secure the center bars to the rack framing using 8 carriage bolts (5/16 x 3/4 inch) and 8 locknuts
(5/16 inch) as shown in Figure 2.

9445551

Figure 2




3. Align the rack assembly with the cargo bed and ensure that it is aligned with the front and outside of the
cargo bed.

4. Using the left side rack and right side rack as the template, mark the locations for drilling.

9445650

Figure 3




Remove the rack assembly from the cargo bed.
Center-punch the marked locations on the cargo bed.
Drill 4 holes (9 mm or 11/32 inch) in the cargo bed.

Place the rack assembly on the cargo bed and loosely secure the rack assembly to the cargo bed using 4
carriage bolts (5/16 x 3/4 inch) and 4 locknuts (5/16 inch) as shown in Figure 4.

A WARNING

Using a drill without proper eye protection may allow debris to enter the eye, causing
injury.
When drilling, always wear eye protection.

© N o o

9445649

Figure 4

9. Torque all the fasteners to 20 to 25 N-m (180 to 220 in-Ib).




Notes:



Notes:



TORO.

Countonit.





